Calculus Name
_~Findl Review Sheet Date

MIf tim f(x) = 7.5, then i Tim f(x) exists, to what value | 6)
. x=41 "
does it converge? T e——
. sinx . 3x+5
2)a) lim —— b.) lim e
x=» 0 ¥ i i | PR S
— of 1+ 2 3 4
lim x*+x* =7 . 3n'-5n
c.) PR d.) leTm pr 2’1271' Uraph of f
X b The figure above sows the graph of the function f with
5 | ifx=2 domain 0= x <4, Which of the following statements
) S(x)=1x-2 are true?
1 ifx=2
Let f be the function defined above. Which of the l. l'[',12~ S (x) cxists
following statements are true? 1. limz./'(x) exists
X =»
. fhasalimit at x=2 . lim  f(x) exists
II. fiscontinuous at x=2 =3
lim f(x)= f(2
I P /( )=7(2) a.) lonly b.) I & Il only
b.) Il only dy LI, &0
a) &Il c.) I only
b.) Il only d.) All of the above
4.) For the function f'whose graph is shown, find the HE A \ THH
limits: o e e e e
I 1i ::/:::' A N
iy fm, Se)= iy fm fE)= N N A
iy lim_ - f(x)= iv) lim  f(x)= ,5-553/::?\/:J;*rif:f';j/f
5.) Find the slope of the tangent line to the curve 7.) If aball is thrown into the air with a velocity of 45 fi/s, its
y= % + 3% at the point (4, 28). height in fect after £ seconds is given by ¥ = 45t 154%, Find
\f =17 ¥ = 2/, (Y- - c{) the average velocity over the interval [0, 4]. Find the
- instantancous velocity when ¢ = 4,

—-.-..1_= . x2 '1
||,)|lm

(#-2) "

13)If f(x)=x*~2x, which of the following represents f'(1)7

x-3

3

x*+2:%-6 _
6x*

X =2

8.) lim

X =5 -

lim
2) x2+2x-3

x

x-3

12.) State, with reasons, the number(s)
at which fis not differentiable,

£(x) 1+h) - & ¢
g a.) lim (LAY ~2(1+5)-1 i (+h)* =2(14h)+1
it b0 h im 4
4 - h =0
A4l and sl h h
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14) Given the graph of fix), which of the

following best represents £(x)?

W (L

G ol 1

'0‘

o )] y

X0 - 5

)

Find the first derivative of the following functions

15) f()=V30_| 16) f(x)=A3-2x 17) f()= ¢ =3x +x+3 | 18) f(x)=(5x+5)’
Y T R Y s I R N IR
22) f(X)= 2-x [23) f(x)=3cotdx | 24) f(x)=cscxseex 25) f(x)=—3x" +2tanx
T 3x+l
26) F D+ | gy oo (343 ) [ (I=3sin" (5 =3) —
) s 52 ) ()=

|
|
|
]

31.)

30) If f(x)=cos(3x), then f'(%]:

Find the value(s) of x where the graph of

f(x)= 243 +3x? =36x+7 has a horizontal tangent line.

32.) Find the slope of the tangent line to the graph of the
function at a given point.

f(x)==3x"+7 (2:-5)

33.) Find the equation of the tangent line to the curve at
the given point.
Jx

SO x+6

(4,0.2)

Find the second derivative

2 —
34) fx)= 6x +Zx <

35) f(x)=x"sinx

36.) The position function of a particle is given by
s(t) = —1.5* =2t with 1 2 0. When does the
particle reach a velocity of 166 m/s?

37.) The equation of motion is given for a particle where s
is in meters and t is in seconds. Find the acceleration of
the particle after 4.5 seconds.

s(t) =sin(2xt)

38.) The first derivative of the function fis given by

fl==

x 1
SO e O many critical values does f
have on the open interval ( 0,10)?

a.) One b.) Three
c.) Four d.) Five
e.) Seven

39.) For what value of x does the function

f(x)=(x=2)x— 3)%have a relative maximum?

a)-3 7 5 7 5
e)

Llay-2 |z =
by-3 (975 | Y3 2
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: mff(x) = §x3 —4x* +12x -5 and the domain is

set of all x such that 0 < x <9 then the absolute
maximum value of the function of f occurs when x is

a)l

b)2 | e)9

c.)4

d)6

42.) What are all the values of x for which the function f
definedby f(x)=x"+3x* —9x + 7 is increasing?

a)-3<x<]

b.) -1<x<I

C.) x<-3 or x>-1

d.) x<-1 or x>3

€) All Real Numbers

43.) Given the graph of £(x), which of the following best represents f(x)?

(A}

y 2 ’

45) Find the critical values

of f(xX)=x" -

Ox?+24x+4

46.)The derivative of fis
graphed on
the left. Give
avalue of x
where fhas a
local
maximum

47.)The graph of f°, the derivative of f, is shown in the figure on the left.
Which of the following describes all relative extrema on the open
interval (a,b)?

a) One relative maximum and two relative minima

b) Two relative maxima and one relative minimum

74 4 ~_~ ¢ - c) Three relative maxima and one relative minimum
d) One relative maximum and three relative minima
a) Three relative maxima and two relative minima
. 1
48.) J'_de 49.) J(sm(Qx) +cos(2x)) dx | 50, I (x2 —x—l)dx 51.) J'Ji__x_
xz -1 (1] ’4 _ xZ

53.) Iol(3+x\/;)dx

54)) Isecx(secx+ tan x) dx

55) jcos xsin® x dx
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